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Question Number : 1 Question Id : 70819116414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :
70819154391, 1-33%

70819154392, 1-03%

e
70819154393, 1-13%

.
70819154394, 1-30%

Question Number : 1 Question Id : 70819116414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819154391, 1-33%

70819154392, 1-03%

e
70819154393, 1-13%

.
70819154394, 1-30%

Question Number : 2 Question Id : 70819116415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particlc- is pmjected with velf}cit}f g along r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= axr2. The
distance at which the par’ricle stops :

21:'{:;
3a
70819154395.

1
31-‘{2} 2
2o
70819154396.

33% _3
2w
70819154397.

Options :

P | =




b

21, \‘]j
3w )
70819154398.

Question Number : 2 Question Id : 70819116415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1
2::1% 2

3o

70819154395.

. 1
3;:{2} 2

2

70819154396.

33:& _ﬁ
2a
70819154397.

ZIJ{} \\']_3
o )
70819154398.

Question Number : 3 Question Id

: 70819116416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A circular hole of radius (—J is cut out of a circular disc of radius ‘a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘0" will be :

A Y-axis

Options :

70819154399, ©

—a
70819154400.
2
—a
70819154401,
10
—a

70819154402, 11

Question Number : 3 Question Id : 70819116416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819154399, ©

70819154400.

70819154401.

70819154402, 11

Question Number : 4 Question Id : 70819116417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM .
[Use ¢ = Rj = 9.8 ms 2 and radius of earth, R = 6400 km.]

Options :
70819154403. TN

70819154404. o

70819154405. 4583 N

70819154406. IR

Question Number : 4 Question Id : 70819116417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FAFATER gl | 99 1 Tl fyve %1 39 y9 W YR 49 N #1149z 39 fyve =i fagaq 99 w
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GM
RZ
Options :

lg = = 9.8 ms™2 91 YAl H HFMR = 6400 km TSI

70819154403. N

70819154404. e

70819154405, 4883 N



70819154406. 95 N

Question Number : 5 Question Id : 70819116418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P}, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2
[ 2(y 11]
70819154407.

RT

2(y—1)
70819154408.

70819154409, RT In 2

70819154410. 0



Question Number : 5 Question Id : 70819116418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

RT[InZ - ]
2(y-1)

RT
2(y-1)

70819154407.

70819154408.

70819154409, RTIn 2

70819154410. b

Question Number : 6 Question Id : 70819116419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
On the basis of kinetic theory of gases, the gas exerts pressure because its molecules :
Options :

70819154411 cnntmunusl}-' lose their energy 11l it reaches wall.

70819154412, continuously stick to the walls of container.

are alttracted by the walls of container.
70819154413. .

70819154414 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819116419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819154411, TR STl Sl Tl BT A €1 S o o <R TF Tel & S |

20819154412, TR W #1 Al § o @ B
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Question Number : 7 Question Id : 70819116420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 k

E’l‘ Mg sina

70819154415.

1 2k

2 Mg sina
70819154416.

1 [k

2o Y M

70819154417.

1 | k
2’:1'.“'2["»1
70819154418.

Question Number : 7 Question Id : 70819116420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
1 k
70819154415, 27 | Mg sina
I 2k
2w\ Mg sina
70819154416.
1 2k
5
70819154417, 2T VM
1 [k
.
2m Y 2M
70819154418. w\

Question Number : 8 Question Id

Correct Marks : 4 Wrong Marks :

: 70819116421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
1



When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819154419, circular

elliptical
70819154420.

parabolic
70819154421.

st‘raight line
70819154422.

Question Number : 8 Question Id : 70819116421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819154419. 1

70819154420. !

[

70819154421. '

70819154422, el 1@

Question Number : 9 Question Id : 70819116422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Which of the f(}]lf}‘wit‘lg equations represents a travc-l[ing wave 7

Options :

— X " l
70819154423, V= Aercos(wt — )

' 2

B Thiges T 8
70819154424, Y= ¢~ (v +0)

= Asi Ty
70819154425, Y = Asin(15x — 21}
70819154426, ¥~ Asinx cosml

Question Number : 9 Question Id : 70819116422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

— X " I
70819154423, V= etcos(wt — 1)

-

S e s
70819154424, Y= ¢ (v1+0)

= 7 l 'j
70819154405, ¥ =Asin(15x —21)

70819154426, 7 Asiny coswi

Question Number : 10 Question Id : 70819116423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
¢ P
275{} m.rfj
70819154427.

70819154428.

1
TEQ md> |2
2:}2
70819154429.

{ 27meg md” ]E
qE

Question Number : 10 Question Id : 70819116423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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1
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Question Number : 11 Question Id : 70819116424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S’ is closed will be :

i
2 R
+ T R § L
1
E=9 V] .
R
R
Options :
70819154431, 222 A
70819154432, >0 A
70819154433, 37 A

70819154434, 9 A

Question Number : 11 Question Id : 70819116424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819154431, 220 A

70819154432, 30 A

70819154433, 07 A

70819154434, 9 A

Question Number : 12 Question Id : 70819116425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft ferromagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819154435, ncrease in size but no change in orientation.

70819154436, decrease in size and changes orientation.



70819154437, May Increase or decrease in size and change its orientation.

70819154438, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819116425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

10810154435, P SR H Ffg Bft weg Ik sAfwferanai # wita T 2

20819154436, T AR H 1 BRfl i stffeamardi # «ff ftafda 2mm
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Question Number : 13 Question Id : 70819116426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819154439, @F(Vi) (B)-(v), ()-(1), (d)-(iv)

70819154440, @), (b)-(iv), ()}-(1), (d)-(v)
70819154441, @F(), (B)-(iv), ()-(1), (d)-(iii)

70819154442, (@)-(i), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819116426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819154430, @F(Vi) (B)-(v), ()}-(D), (d)-(iv)

70819154440, @-(Vi), (b)~(iv), (©)-(1), (d)-(v)
70819154441, @), (B)-(iv), (c)-(1), (d)-(iid)

70819154442, (@)-(i1), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819116427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the source of light used in a Young’s double slit experiment is changed from red to violet :
Options :

70819154443, 'he fringes will become brighter.

70819154444 consecutive fringe lines will come closer.



70819154445 the intensity of minima will increase.

70819154446, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819116427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fe foeit =m % faferd w4 # I9dm fahu T W S =1 o 9 S R e e @
Options :
70819154443, 191 SR ST =pie 81 St

70819154444, 0T TS W@ Fahe & S

70819154445, [TE=TeS =l TSl H Jg 71 ST

20819154446, T EIA FHenTell 5 el T 21 S

Question Number : 15 Question Id : 70819116428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
plmmn will be :

Options :

1
70819154447, 107 nm

3
70819154448, 10 = nm

3
70819154449, 107~ nm



4
70819154450, 10 % nm

Question Number : 15 Question Id : 70819116428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tort X-forron ifersrr =1 weer 1.24 fafea dee ) fFa 0 81 39— WA # e e
20 ;
Options :

1
70819154447, 107 nm

]
70819154448, 10 = nm

3
70819154449, 1077 nm

4
70819154450, 10" nm

Question Number : 16 Question Id : 70819116429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Bmglir_- wavr_-lengﬂ\ of a proton and :x-par’ricle are r_-quaL The ratio of their velocities
15 :

Options :
70819154451, +:1

4:2
70819154452.

70819154453, 4193



70819154454, 1:4

Question Number : 16 Question Id : 70819116429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ot W2t AR Tt o0 F1 S 9Fell (de Broglie) TTE= WA €1 37 9711 1 ST 21T :
Options :

70819154451, +:1

4.9
70819154452, 12

70819154453, 413

70819154454, 1:4

Question Number : 17 Question Id : 70819116430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?

Options :
70819154455, =2 o n=1

— ='j
70819154456, D=2 ton=2

n=4 ton=3
70819154457.

70819154458, M2 ton=4



Question Number : 17 Question Id : 70819116430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

R (Bohr) F T¥HI] Hige % ATER A= fou 7o fFa d@Fmm o o
Options : I HhdH
70819154455, N=2 A n=1

70819154456.

70819154457.

70819154458, N=2 Hn=4

Question Number : 18 Question Id : 70819116431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p —n junction having p and n both :
Options :
70819154459, lightly doped and have narrow depletion layer.

70819154460 1ghtly doped and have wide depletion layer.

70810154461, heavily doped and have narrow depletion layer.

70819154462, heavily doped and have wide depletion layer.



Question Number : 18 Question Id : 70819116431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Wp nﬁﬂﬁ?ﬁ?‘ﬁaﬂ Tﬁ%ﬁ‘d‘l%ﬁlﬂp -Bﬁ'{n -
Options :

70819154459, 101 ° T 2 & ST 3T Hehl gl T 2 € |

10819154460, FTT A B & AR ST foregd Bredl % 2ren 2 |

70819154461, TTH A 2 T AR I HH B T ¥

081915446 TN T B & AR 3R forega g Tt e 2

Question Number : 19 Question Id : 70819116432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement 1 : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement Il :  In the study of transistor, the amplification factor § indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.
Options :
70819154463, both Statement I and Statement 1I are true

70819154464, Both Statement I and Statement 1l are false

70819154465. Statement 1 is true but Statement 11 is false



70819154466. Statement 1 is false but Statement Il is true

Question Number : 19 Question Id : 70819116432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

20819154463, S A1 SRHAT 11 T T

20819154464, ST R 1 S HAT 11 HE T € |

70819154465, a1 1 HEl T T YA 1 E R 2

70819154466, P21 L Hel 7&l T T I T T

Question Number : 20 Question Id : 70819116433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



>o0—o0 C

The logic circuit shown above is equivalent to :

Options :

S
C
70819154467, B
Ao—>0— _
o—o C
70819154468, B °©
T
70819154469, B ° |
T e
C
B

Question Number : 20 Question Id : 70819116433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

= T T wifse ity fws qea & 7

A
so0—ao C
B

Options :

70819154470




|
I

70819154467. B )

Ao—{>0—

B o———

70819154468.

Ao— >0

Boe

T

70819154469.

= >
]

70819154470.
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Two solids A and B of mass 1 kg and 2 kg respectivc-ly are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of

A will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 21 Question Id : 70819116434 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

31 3 A 3R B fo% F=aAM A 1 kg R 2 kg ¥ 99F @s dam & nfawe 81 afs s wifas

) A . .
FAA H ST, (KE)y: KE)y T~ TTAFAT____ Fm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116435 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be
cm.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819116435 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

U g 96 F o1 T R o1g F UHEEE a0 5 0.04 m T gfE & 9l g1 9fE a8 F aw=E $R
FHA AU I AT T Rea=E 3 cm @0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819116436 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing ﬂ'urnu%h the centre of mass and perpendicular
to the plane of hexagon is X100 " kg m,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 23 Question Id : 70819116436 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

THTHH Tiel B i fomsH 5599 H 6 kg 307 @ =G 2.4 m € &1 UF FafH veqs § @rermn g 59
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116437 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The root mean square spr_-r:-d of molecules of a given mass of a gas at 27C and 1 atnmsphr_-rr_-
ressure is 200 ms~!. The root mean square speed of molecules of the eas at 127°C and
P q P 8

2 atmosphere pressure is ﬁ ms . The value of x will be
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819116437 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
27°C A1 iR 1 AgHee™ <™ W fHET fau 0 5=9mH #1 79 % Al & rms =6 200 ms ! ¥

wﬁﬂﬁlz?ﬂcmaﬂuaﬁ{qm’haﬁqhmam%m 1Z| x &1 9F Bl
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116438 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each

other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819116438 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 FR 7.2 km/hr. F1 THF 91 ¥ THEL F AR Md R @ | 99 98 UH HL F 6@dt @ Al
676 Hz T =1 & ol & | 291 11 &+ e g 941 9 Tl faer= s Hz
BRI [ATg H A 1 F340 m/s T ]




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819116439 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A point charge of +12 puC is at a distance 6 cm vertically above the centre of a square of side

12 em as shown in f i%urc-. The magnitude of the electric flux through the square will be
_ x10° Nm?/C.

*+q

%
)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 26 Question Id : 70819116439 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A H 90 SAFER +12 pC &1 FiE 95 399 12 cm 991 91 64 791 & 75 & FEW IR
bem T REAE WF A I faga s Famm . x10% Nm?2/C @rm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819116440 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A cylindrical wire of radius (0.5 mm and conductivity 5 x 107 S/m is subjected to an electric
field of 10 mV/ m. The expected value of current in the wire will be x’w mA. The value of x
is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 27 Question Id : 70819116440 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.5 mm 5= 3R 5x 107 §/m el & fFH ITFR T8 W10 mV/m T fagq &9 AR
e T ¥ 59 AR 9 yEiEd ¥R HE O mA B v HOHA 2l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116441 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency w,= 10° rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is LR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819116441 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

fEl 4vit LCR witgg 1 fFet ®ivim A w,=10° rad/s W AR & F fag 9w
o T ® 1 g ity 1A W 120 V F | W 16 W WIiEd 9 %l € | Uiey § gfadeE R #
1= R VR 1



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116442 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
%102 cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819116442 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

F15 3 GHz 9gfa &1 fag@ grasa @ faa 9 o waga arem foesr smfas
2B A TN FC B SHATH A AT R AR x 10" Zcm BRI
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :



5t05.001

Question Number : 30 Question Id : 70819116443 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

[Gain in dB=10 Iogm[ ]

P, )
Fi )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819116443 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 kW ¥ ot fomet =1 fordt e § S=m 21 @1 2 | Fael 1 o= 20 km & 991 Fad 1 HoH

5 dB 9fd freirter 21 AfmE gr are oifsd 10X W 2t | 3@l x =1 /6 2l
s
[Gain in dB=10 log,o| = |]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Chemistry Section A

Section Id : 708191636
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191916
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819116444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr's atomic theory :
.ZE

(A) Kinetic energy of electron is =« —.
n

[t

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,
ZLE
(C) Frequency of revolution of electron in an orbit is = =
n

3

(D) Coulombic force of attraction on the electron is —
n

Choose the most appropriate answer from the options given below :

Options :



70819154481, (1) (€) and (D) only

70819154482, (A) and (D) only

70819154483, (C) only

70819154484, (&) only

Question Number : 31 Question Id : 70819116444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
TR & THIEE g F SATEN
.
(A) FoTE i TS S o« 2 |

n

(B) oI & TG (v) T9 FA FEi2H HEAl (n) T AR ‘vi' o Z2 |

.
(©) Q&Tmﬁsﬁa@'ﬁ%qﬁaﬁwﬁa@ﬁx%l
n’
= - = % Za-i
(D) SeERA 9 HAH AR FqA o« |

114

A9 feu fawedi # § Haitys 3f=Ea 3@ 9A
Options :
70819154481 (&) (C) T (D) =t

A) T :
70819154452, () T (D) F8



70819154483. © '

70819154484. (A) =

Question Number : 32 Question Id : 70819116445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I- 11 bond angles respectively in I; ion are :

Options :

70819154485, Linear; 180°

i 1 ; ; . 135° o
70819154486, Distorted trigonal planar; 135" and 90

70819154487 1-shaped; 180° and 90°

Trigonal planar; 120°
70819154488.

Question Number : 32 Question Id : 70819116445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[, 3T=F & F&l A a91 [ 1 [H0 8 FH9
Options :

IEE: 180°

70819154485.

farga e ; 135° :
70819154486. foreRToma JHde; 135° @41 90

T-SrT 3T, 180° T 90°

70819154487.



70819154488, 1ApIoNE HHACT; 120°

Question Number : 33 Question Id : 70819116446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Most suitable salt which can be used for efficient clotting of blood will be :
Options :

NaHCO
70819154489, -3

70819154490, V18HCO3)2

70819154491, FeCls

70819154492, 1904

Question Number : 33 Question Id : 70819116446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T I TR THE B F 94§ S w90 gy e e §, 98 @
Options :
70819154489, a0

Me(HCOA.),
70819154490, B 3)2

FeCl
70819154491, 3



FeSO,
70819154492,

Question Number : 34 Question Id : 70819116447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
1S :

Options :
70819154493, L1 > LiF; MgO > NaCl

70819154494, LiF > LiCl; MgO > NaCl

70819154495, L€l > LiF ; NaCl > MgO

LiF > LiCl ; NaCl > MgO
70819154496.

Question Number : 34 Question Id : 70819116447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fAfafEd d A g S T SR S e S G FH H 8, de ¢ :
Options :

70819154493, LiC1 > LiF ; MgO > NaCl

70819154494, LiF > LiCl; MgO > NaCl
70819154495, LiC1 > LiF ; NaCl > MgO

70819154496, LT > LiCL; NaCl> MgO



Question Number : 35 Question Id : 70819116448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i) Siderite
(b) Iron (ii) Calamine
(c) Copper (iii) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :
Options :
70819154497 (@)(1), (b)-(i1), (c)-(iti), (d)-(iv)

70819154498, (@)-(1v), (b)-(iii), (c)-(i1), (d)-(i)
70819154499, (@)-(i), (b)-(iv), (c)-(1), (d)-(iii)

70819154500, @), (B)(1), (c)-(iv), (d)(ii)

Question Number : 35 Question Id : 70819116448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



= - 1 9 H=T - 11 % gHA Hifa

T - 1 gt - 1
(& ) (313 )

(a) UGEFEH () faeUse
(b) A (i) HeTHE
(c) T (i) FATETAEE

) fo= (iv) HelEe
== feu T fasedi § 9 9@l 3T g0

Options :

70819154497, (@-(1), (b)-(ii), (c)-(iii), (d)-(iv)
70819154498, (@)(iv), (b)-(iii), (c)-(i1), (d)-(1)
70819154499, (@-(iD), (b)-(iv), (c)-(i), (d)-(iii)

70819154500, (@)-(1id), (b)-(), (c)-(iv), (d)-(ii)

Question Number : 36 Question Id : 70819116449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.

Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given
below :

Options :



70819154501, Both A and R are true and R is the correct explanation of A
70819154502, Both A and R are true but R is NOT the correct explanation of A

70819154503, ‘v 18 true but R is false

70819154504, A 15 false but R is true

Question Number : 36 Question Id : 70819116449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

= 31 o fou U | ATURET A 3R gH FWUTR B
IUFHIT A ;. ETSH TS F FEitaEs EmE a9 € W eivded § I8 gaitus e T

T e
FIUTR LIS Hal goshl ad €
I YAl % Hed § e fou w3 fawedi § | waifus wE 3w 9

Options :
70819154501, A 1 R 1 T2 & 3K R Tl =AW & A Fl |

20819154502, A T R S el T W R HEl A TE T A H

S0819154503. A T € T R 30 2

20819154504, A T € TG R T €

Question Number : 37 Question Id : 70819116450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (iii) 780.0 nm
(d) GCsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819154505, (@ (¥), (b)-(ii), (c)-(iii), (d)~(i)

70819154506, (@)-(i), (P)-(iv), (c)-(iti), (d)-(3)
20819154507 @), ®)-(v), ()-(i), (d)-(iii)

70819154508, (@-(iD), (b)-(1), (c)-(iv), (d)-(iii)

Question Number : 37 Question Id : 70819116450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T - 1 9 G0 - 11 3 gHA Fifae

- 1 = - 11
( &1=0T) ( TETET T TS )
(a) LiCl (i) 455.5 nm
(b) NaCl (i) 670.8 nm
(c) RbCl (i) 780.0 nm
(d) CsCl (iv) 589.2 nm

= feu T fawedi | 9 waifys 9@ I g



Options :
70819154505, (@)-(1v), (b)}-(ii), (c)-(ii), (d)-(1)

70819154506, @) ({), (b)), (c)-(iii), (d)-(i)
70819154507, @), B)-(v), ()}-(i), (d)-(iii)

20819154508, @D, (D)), ()-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819116451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The incorrect statement among the following is :
Options :
7 o i
70819154509, VOS50, is a reducing agent

70819154510, RuO4 is an oxidizing agent

70819154511. Cry05 is an amphoteric oxide

70819154512 Red colour of ruby is due to the presence of Co?

Question Number : 38 Question Id : 70819116451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FfeEg § 9 30 9 ©

Options :

70819154509, YOO T ATHAT FHR T



70819154510, NuOs TH AT FHF &

Cr,O THAYE! Al
70819154511, ~29% °F TS T

- * - = 90 = pasane
0819154512, U 1 TIEl T 1 B4 1 HR0 Co® * i Sufeafa

Question Number : 39 Question Id : 70819116452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the following elements with respect to their density ?
Options :

70819154513, <f < Fe<Co<Cu<Zn

70819154514, Zn < Cr < Fe < Co < Cu

70819154515, Zn<Cu<Co<Fe<Cr

70819154516. Cr < Zn <Co <Cu < Fe

Question Number : 39 Question Id : 70819116452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FeAferiign deal & Scel % STTHR Tel FH a0 E 7
Options :
70819154513, Cr <Fe <Co<Cu<Zn

70819154514, Zn < Cr < Fe < Co < Cu



70819154515, Zn <Cu<Co < Fe <Cr

< < < < K
70819154516, <F < 4n<Co<Cu<Fe

Question Number : 40 Question Id : 70819116453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCl, IZ =, CoHCO4)s I:«_-. 2

and [‘h.lnf.]i_ respectively are :
Options :

70819154517, +90. 0 and 1.73 BM

70819154518, 292, 4.90 and 0 BM

70819154519, 9-82, 0 and 0 BM

70819154520, 490, 0 and 2.83 BM

Question Number : 40 Question Id : 70819116453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TSl [FeCl, |, [Co(C,04), P~ @1 MnO3 & WRefo T v (Faa ford wm) €
E A

Options :

70819154517, 20, 0 @1 1.73 BM

20819154518, 0% 490 T 0 BM



5.82, 0 941 0 BM
70819154519.

70819154520, 490, 0 @41 2.83 BM

Question Number : 41 Question Id : 70819116454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement Il : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819154521, Poth Statement I and Statement Il are true

70819154522, Both Statement I and Statement 1l are false

Statement 1 is true but Statement 11 is false
70819154523.

Statement 1 is false but Statement Il is true
70819154524.

Question Number : 41 Question Id : 70819116454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



FUAI ; TR ¢ A EE 2SS 90 (BOD) ' F °F 9 & w4l F w9 % g
el 2 |

FIAII : BOD 1 §%d9 AH & 6.5 ppm |

I FeAl & fore = fei 7 fawedi § 4 gaifas 928 3w &1 999 Hifau

Options :

10819154521, SV RE 1 A HAT 11 T &

10810154507, SV RO 1 T FHI 11 9 &

20819154503, P 1 T 8 W R 11 HHA T

oH
0810154574 P 1 STHA T TG FAT 1 TA @

Question Number : 42 Question Id : 70819116455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with g-Naphthol in NaOH ?

o
70819154525.

: - I[..HENH2
70819154526.

Options :



70819154527.

CHj,

70819154528.

Question Number : 42 Question Id : 70819116455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fefatas § 9 fegs SEusa o@n, NaOH H p-Awyid 4 afufms 3% 9 =5 fafq

@/NHE
70819154525,

CH,NH,
70819154526. :

NH—CHj
70819154527 @/



CHj

@/\I—CHg

Question Number : 43 Question Id : 70819116456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819154528.

Which one of the [ ollowing cmnpounds is non-aromatic 7

(]

70819154529, O

Options :

70819154530.

@

®
70819154531. :
70819154532. I I I

Question Number : 43 Question Id : 70819116456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FrAferfiad § & -1 AR wHtes T8 & 2

Options :



70819154529, O

&

70819154530, ®

70819154531.

70819154532. I l l

Question Number : 44 Question Id : 70819116457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following carbonyl compounds cannot be prepared by addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options :
i
70819154533, “Ha~ C—H
0

[l
_C_CH-CH
70819154534, 1137 C 2=



i

0
CHy=CH;=E<H

70819154535.

70819154536.

Question Number : 44 Question Id : 70819116457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

frefafaa sEite Jife § 3 fF & #1 U W S &1, HgSO, 79 H,S0, F1 3uftd 3,
HeFeld &34 | &l o a8 2
Options :
G
CH;—C—H
70819154533, 2

Q
CH;— C—CHyCHj

70819154534.
@]
[

70819154535.

O

Il
CH;—CH,—-C—H
70819154536. :

Question Number : 45 Question Id : 70819116458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

b o 1 Cl
NO, NO, NO,
@ (i) (iii) (iv)
Options :
70819154537, (V) < (i) < (i) < (@

70819154538, (Iv) < (1) < (iif) < (i)
70819154539, (@) < (i) < (iii) < (iv)
(iv) < (i) < (if) < (iii)

70819154540.

Question Number : 45 Question Id : 70819116458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Tt et =1, Tifas e gfaems AffFra S T M ER F9 e

G e ¢l Cl
NO, NO, NO,
() (ii) (iii) (iv)

Options :

70819154537, V) < (i) < (i) < ()

70819154538, (V) < (1) < (iii) < (ii)
70819154539, @ < (i) < (iii) < (iv)

70819154540, (V) < (1) < (i) < (i)

Question Number : 46 Question Id : 70819116459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

Which of the followmg reagent is suitable for the preparation of the pmduct in the above
reaction ?



Options :

NaBH,
70819154541.

2o
70819154542, [NH2 ~NHy/C,H;0Na

70819154543, i/ Fa

Red P +Cl
70819154544, © 2

Question Number : 46 Question Id : 70819116459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-

frefarfias & 4 sm-m stfusds swe afafrn 4 sae § faa F o sugem 272

Options :
70819154541, -vaBH,
=Y
70819154542, VH2~NHy/CHzONa
70819154543, "/ Fa
@ P+ Cl,

70819154544,



Question Number : 47 Question Id : 70819116460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
m-dibromobenzene ?

M':Jz Br
T o= o -
Br
Options :
Sn/HCI / KBr / Br, / H+
T - - -
70819154545.
NaNO, / HCl / KBr / H*
: - - -
70819154546.
Sn/HCl / ‘\JaNDE NaBr
—I- e
70819154547.
Br,/Fe F/Sn;‘ll(_lh/ NaNO,/HCl ___/cuBr,fHBr o
70819154548.

Question Number : 47 Question Id : 70819116460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



AE2TESH F -2 E[ § iEfda #33 F fou 3w fF73 9F 9 afysds & 98 %9 #20
27

NDE Br

Br

Sn/HCI / KBr / Bry / H*
- - I -

NaNO, / HCl / KBr / H+
o P - —_————

Options :

70819154545.

70819154546.

Sn/HCI / Br, / NaNO, / NaBr
- - = -
70819154547.

Br,/Fe ...,/ SHXHCIF/ NaNQ,/HCI h/ CuBr/HBr &
70819154548.

Question Number : 48 Question Id : 70819116461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :

Options :

70819154549, Sulphur



70819154550, Otrength

70819154551, Styrene

Su Iphnnatinn
70819154552.

Question Number : 48 Question Id : 70819116461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aga® =A-S§'S foaus feu g, a2 2

Options :

70819154549,

70819154550, I

Question Number : 49 Question Id : 70819116462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List - I and List - 11.
List - 1 List - 11
i)  Antifertility drug
ii) Pernicious anaemia

(a) Valium

(b)  Morphine

(c) Norethindrone
(d) Vitamin By,

iii) Analgesic
iv) Tranquilizer



Options :
70819154553, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

70819154554, (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
70819154555, (@-(1v), (b)~(iii), (c)-(i). (d)-(ii)
70819154556, (@) (1), (b)-(iv), (c)-(iii), (d)-(1)

Question Number : 49 Question Id : 70819116462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T - 19 H= - 11 3 g9 i

gl - 1 =l - 11
(a) dferam (i) worA faliEt sfmfy (Ant fertility drug)
(b) HIHRME (i)  WOMST TSl
() HARufTEH (i) TesitE® (frerm)
(d) fa=ifE B, (iv) weas
Options :

70819154553, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)
70819154554, (@), (b)), (c)-(i), (d)-(3)
70819154555, (@H(Iv), (b)-(iii), (c)-(1), (d)-(ii)

70819154556. (@)-(i), (b)-(iv), (c)-(iii), (d)-(i)



Question Number : 50 Question Id : 70819116463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - 1L

List - 1 List - 11
O
I
(a) R—-C-Cl »>R—CHO (i  Br,/NaOH
(b) R—CH5-CO0H — R—{I“_I - COOH (i) H,/Pd-BaSO,
l
O
Il
(c) R—C—NH, —R-NH, (i) Zn(Hg)/Conc. HCI
o)
I
(d R-C-CHs—>R—CH,—CH, (v) C,/Red P, H,O

Choose the correct answer from the options given below -

Options :
70819154557, (@)-(1i), (b)~(iv), (c)-(1), (d)-(ii)

70819154558, (@)-(iii), (b)-(1), (c)-(iv), (d)-(ii)
70819154559, (@)-(1), (b)-(1), (c)-(iv), (d)-(ii1)

70819154560, @ (H), (b)-(v), (c)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819116463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
T - 1 9 =i - 11 1 g Fifa ;
= - 1
O
(a) R—C—Cl —R—CHO

(b)) R—CH,—COOH — R—CH - COOH
|
Cl
]
Il
(c) R—C—NH,—+R-NH,

O
|
(d) R—C—-CH; - R—CH,—-CHjy
i fau T faskedi § § T S 9

Options :
20819154557, (@)-(iiD), (B)-(iv), (c)-(1), (d)~(ii)

70819154558, (@) (i), (b)-(1), (0)-(iv), (d)-(ii)
70819154559, @)-(1), (b)-(1), (¢)-(iv), (d)-(iD)

10819154560, @ (- (B)-(), (€)-(), (d)-(iii)

ﬂ?il -1l

Br,/NaOH

H,/Pd - BaS0,

Zn(Hg)/ &= HA

1,/ @ P, H,0



Chemistry Section B

Section Id : 708191637
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191917
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819116464 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of O, for
complete oxidation and produces 4 times its own volume of CO, is C H . The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819116464 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TH TS forae HYu At F fau 589% AT AEe F 6 T O, Fi SAavdaal o @ R
ST A | 4 A CO, 300 Bl €, 98 C,H, & el y &1 A1 § |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116465 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is

L. (Rounded off to the nearest integer)
[Given R=0.0826 L atm K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819116465 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50°C @91 740 mmHg 39 W 4.75 g THifee 9 g se=afad A&aq, L, @
(Freeas gui)
[fem % : R=0.0826 L atm K~ ! mol "}

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 53 Question Id : 70819116466 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
x %10~ L. The value of x is . (Integer answer)

[Given : A /G*(HC=CH)= —-2.04x 10°] mol 1 ; AG(CgHg)= —1.24 X 10° ] mol~1;
R=8314 ] K~ mol~1] "

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819116466 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A=Y =FeR A, Frfafaa afafdan % fau 25°C W log K 1 91 1 <1071 81 x FAF
1 (quiw I

[feam & : A/G*(HC=CH)= —2.04 % 10° ] mol ! ; AG°(CgHg)= —1.24 X 10° J mol ~ 1 ;
R=8314 J K~ mol~] :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116467 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;, in 200 g of C H,
freeze is “C. (The molal freezing point depression constant of C H, is

5.12°C/m.)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819116467 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CH,, 5.5°C W et €1 58 @ fo/ W 10 g, C,H,, #1200 g C H, # oo 5w o & 72 &
°C. (C H, ®1 Hioie fewish s feemieh 5.12°C/m ¥1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 55 Question Id : 70819116468 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The solubility product of Pbl, is 8.0 10 ?. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~ mol/L. The value of x is . (Rounded off to the nearest
integer)

[Given \/T = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819116468 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Pbl, F1 faer@d TAE 8.0x 1079 g1 e wAEeEe & facm 0.1 Jer o A5ge faemq o
xx10"6mol/LEI xHHAAE (quiis W)

[fem 2 : 2= 1.41]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116469 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

: - 2+ : ; :
MnO,4 and Mn~" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
I 2303 RT
|:{_+iwrn - ¥ = U_[EU]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819116469 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ﬂlnDL’[\lnzT I FI Sfiad Ui gfiafdd 89 & 9fEm ax 104V B, afs HY A &
[EA 25°C W, 1M H 10 4 M T 921 &f 9T, x & °9F § | ( FreFeas o)

(H* 324 F1 |izgdl 9REfid 8/ ™ MnO, a9 Mn2" %1 Sizd 991 91 #ifaw) |

[fﬂ?ﬂ g —2‘3“;' i {1.[159]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 57 Question Id : 70819116470 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Ingm[T] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 57 Question Id : 70819116470 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ST f9eEA | gt 1 T a9l Bl H 25°C W SAT9eA 99H Fife F I FEH F AT
| \
[a} T = b . .t = 1
3.33 h &1 314 3T % WY F &1 9 h F g6 99 T THE H 39 [ ¥ Iﬂgm[T]EﬁTqﬁ%
/)

x10~2| (fehzam quis)
[AH #ifer : In 10=2.303, In 2=0.693]
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116471 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism is _

(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819116471 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Frfafad JeF & AET | |
(A) o-HTHT (B) Pp-HoHL (C) Sy-form
I ATEG HT G S SIS <9 8, € |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
510 5.001



Question Number : 59 Question Id : 70819116472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of amines among the following which can be synthesized by Gabriel
synthesis is _

CH3z
CHs

CHy—NHj NH,
© ©/ D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

CH—CHp—NIH2 (B) CH,CH,NH,

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819116472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Freferfaa § & =9 UHH $1 9=, T gvemy e 9 d L 9F5d 8, & |
CH3~, c— CH—NH
A) 2 2 (B) CH,CH,NH,
Sl

CHy; —NHy NH2
© ©/ (D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819116473 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durinﬁ
purification. Amount of acetanilide obtained after purification (in g) is o |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819116473 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1.86 g UfTei quiey § sifafren w3 Tfaeamss s g1 308 &1 10% ieHo § =@ & 5
Bl W, et wmi A (g H) ¥ x 10724

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Mathematics Section A



Section Id : 708191638

Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191918
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819116474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= Tl 5 is (20, b, —a—9), then |a+b| is equal to :

e |
n

Options :
70819154571, 84

70819154572, 56

70819154573, 88

70819154574. 920

Question Number : 61 Question Id : 70819116474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



_ X —3 2 w=1 .
A a, beR. AR A5 P(a, 6, 9) @, —— = J = Y U wfafa= (20, b, —a—9)

L
wn
o

%, T |a +b| == % -
Options :

70819154571, O+
70819154572.
70819154573, B8

70819154574.

Question Number : 62 Question Id : 70819116475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

(a, c), (2, b) and (a, b) be (%ﬂ, %J If a, B are the roots of the equation ax®+bx+1=0, then
the value of a2+ B2—ap is :
Options :
6
70819154575, 20
7
70819154576, 220
)
256

70819154577.



70819154578.

Question Number : 62 Question Id : 70819116475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AT a, b, c TF TR 42t § T =1 fyw fomes oid f (a, o), (2, b) 9 (a, b) , 1 F=F

10 7 — . .
(T,ﬂ%|W?WWWJEHH+MHETMﬁMB%m£+§—¢mﬂm%:

Options :
69
70819154575, 296

71

70819154576, 296

(Y
70819154577, 256

71

70819154578, 220

Question Number : 63 Question Id : 70819116476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If P is a point on the parabola y=,1'3+4 which is closest to the straight line y=4x —1, then
the co-ordinates of P are :

Options :



(3, 13)
70819154579.

70819154580. (2 8)

70819154581.

70819154582, \1r 2)

Question Number : 63 Question Id : 70819116476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

afg P Waed, y=x2+4 T UF UH fag ¥ & W, y=4x 1 F fhead &, @ P & frdvniw 2
Options :

70819154579, (> 13)

s
70819154580, = )

i) !
70819154581, L~ = ©

70819154582, 1+ 2)

Question Number : 64 Question Id : 70819116477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For which of the following curves, the line x \Ey = Z\E is the tangent at the point

2. 1),

2 2

.,



Options :

fa
| =]

I
~1

Y
70819154583,

xZ + Qyz =9
70819154584.

70819154585, 6v3

2x2 - 18};2 =9
70819154586.

Question Number : 64 Question Id : 70819116477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e [fof 1

> rg]ﬂ{“ﬂm,ﬂ 3y

23, =1 B o o = 1 o9l et &2

Options :

| =]
-2
I

et

70819154583.

o) o
2 +9y2=9
70819154584, & Y

y:
70819154585, 63

-0
2x
70819154586.



Question Number : 65 Question Id : 70819116478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3

The value of the integral, j[:r2 2x —2|dx, where [x] denotes the greatest integer less than
1

or equal to x, is :

Options :

70819154587, >

70819154588, ~
70819154589, V2 -3 -1
70819154590, V2 -3 +1

Question Number : 65 Question Id : 70819116478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

THFEA j[:r2 2x—2]dx &1 AF, S [x], HeTH i < x &, T

Options :
70819154587, — 2

70819154588, ~ *

N

4

70819154589.

N2 =% + 1

70819154590.



Question Number : 66 Question Id : 70819116479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pAa(pvq)is:
Options :
70819154591, ~ P

70819154592, ~F 4

70819154593, © =4

70819154594, P74

Question Number : 66 Question Id : 70819116479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FM ~pa(pvq) T E:
Options :

70819154591, F M
70819154592,  © "4
70819154593, P74

70819154594, PV 4



Question Number : 67 Question Id : 70819116480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations (A?B*— B%A2) X=0, where X is a 3x 1 column
matrix of unknown wvariables and O is a 3 x1 null matrix, has :

Options :

70819154595, 1O solution

70819154506, 2 Unique solution

70819154597, exactly two solutions

70819154598, Lt‘l.fﬂ‘llti’.*l}-' many solutions

Question Number : 67 Question Id : 70819116480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HFT A T B 21 3 x 3 Afiqas A1ege & S A ¥afeq =g & a=1 B faws gafig o= 21 o ifaw
Tt A, (A2B2— B2A2) X=0, SEF X, UF 3 x1 J96 90 6 T A= € 991 O, Th
319 AT T ;

Options :

70819154505, 1 16 1 T TE &

70819154596, I Fd TF T ¢

70819154597. FAFATAE

70819154598. = wE



Question Number : 68 Question Id : 70819116481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f"(2—x) for all
x e (0,2), f(0)=1 and f(2) =e”. Then the value of Jf{x} dxis:
LI

Options :

7
70819154599, 1 €~

2
70819154600, 1 T €

] &
70819154601, 21 +¢7)

21 — o
70819154602, 21 ~¢7)

Question Number : 68 Question Id : 70819116481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

| [0, 2] H ILA]WWW% 5@ fIe f(x)=f"(2—2x), ¥ x € (0, 2), f(0)=1 T

fQ) =2 %1 @ [fx)dx FARE:
0
Options :

i
70819154599, 1 ¢

2
70819154600, 1 ¢



. 2
70819154601, =1 1¢7)

T i R 4
70819154602, =11 —¢7)

Question Number : 69 Question Id : 70819116482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

1fa) @)

ff(x) #0forallx e R. If Fo) Fe = 0, for all x £ R, then the value of f(1) lies in the
i fx) f'&x) =

interval :
Options :
0, 3)
70819154603.

3 &
70819154604. )

70819154605. (6 9)

(9, 12)
70819154606.

Question Number : 69 Question Id : 70819116482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

MR TR UF W f 3 91 Sasherd 8, fams faw f(0) =1, f/(0) =23 f (x) 20, vV x < R¥) Afg

[f@  f@
fx) @)
Options :

=0,vxe RE f(1) F 99 0 FAHE, 982 :




70819154603.
70819154604.

70819154605, (O )

70819154606.

Question Number : 70 Question Id : 70819116483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax>+bx+c, xe R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :

70819154607, @=1, b=1,c=0

a=1, b=0, c=1

70819154608,
70819154609, 2= — 1 b=1,¢c=1
1 1
a=—.b=—,¢e=1
] g
70819154610. 2 2

Question Number : 70 Question Id : 70819116483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g T y=ax?+bx+c,x € R, Tag (1, 2) T T S0 & 91 YeAlarg W 59T T99 @, y=2x 8, T
a, b, ¢ & Hife /A ¥
Options :



70819154607, A= 1 P
70819154608.

70819154609,
1
70819154610. 2

Question Number : 71 Question Id : 70819116484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f n=21is a positive integer, then the sum of the series
"o, +2(2C,+ ¢, + 0, +..+ PG, )is:
Options :
n(n —1)(2n+ 1)
70819154611. 6

.n{n +1) (2n + 1)

70819154612. 6

.11(211 +1)(3n +1)

70819154613 6

.n{n I 'l)z{n + 2)
12

70819154614.



Question Number : 71 Question Id : 70819116484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A n =2 UF ST gk 2, o it

"o, +2(2c,+ %, + Y, +. 4 C, | Am R
Options :
'n{n 1)(2n + 1)

70819154611. 6

.n{n +1)(2n + 1)
70819154612. 6

.11(211 +1)(3n + 1)

70819154613 6

n(n +1)*(n+ 2)

70819154614, 12

Question Number : 72 Question Id : 70819116485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



For the system of linear equations :

x—2y=1, x—y+kz=-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct ?
Options :

70819154615, () and (D) only

70819154616, () and (E) only

C) and (D) only
70819154617, &) 2nd (D) only

70819154618, ) and (E) only

Question Number : 72 Question Id : 70819116485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



aw g fAEE

x—2y=1 x—y+hkz=-2, ky+4z=6, ke R,
(A) fT™ ®1 Fac UF T4 T, 918 k22, k= -2 %1
(B) T 1 ¥ TH 7A@ T, Ak = —2 ¥
(C) @ F F9a TF eA 8, ATk=2T|

(D) f7m@ =1 #rE 2a 76 €, afe k=2 T

(E) 7™ ¥ o9 ool €, Afgk= -2 Tl
MfEAFFH I FATTIL?

Options :

70819154615, T (A) T (D)

70819154616, T () T (E)

Faa (C) 741 (D)
70819154617. - :

7081915461, oo (B) 9 (E)

Question Number : 73 Question Id : 70819116486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Let f:R — R be defined as
55x, ifx< -5
f(x) = {2x3— 322 120z, if ~5< x<4
2x%- 3x%- 36x - 336,  if x >4,
Let A = {x = R : fis increasing}. Then A is equal to :

Options :

70819154619, (~ % —3) U (&, =)

70819154620, (—2 —4) U (4, =)

70819154621, (— % —5) W (—4, =)

70819154622, 2 =)

Question Number : 73 Question Id : 70819116486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HAIf:R — R
55x, qfx < -5
f(x) = 42x°— 3x2— 1201, s ~5< x <4

2x°— 3x%— 36x — 336, AR x > 4,

BRI IR €1 AMA={xc R: fTAA T} | T A TR & :
Options :

70819154619, ~ % T2 Y (& =)



70819154600, L 2 T3 Y 3 =)

70819154621, (— %~ W (—4 =)

70819154622, ' 2

'.t:_]

Question Number : 74 Question Id : 70819116487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A pmqihlc- value of tam( —sin B ]
4 be]

X,

Options :

70819154623, V7

70819154624.

70819154625.

70819154626, 2V2 — 1

Question Number : 74 Question Id : 70819116487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

1 J63
tm{zﬂnl ]Eﬂm$ﬂmmﬁnﬁ%



Options :

1
70819154623. “/F—

1

2.2
70819154624. _\C

70819154625. ﬁ

2
70819154626, 2V2 — 1

Question Number : 75 Question Id : 70819116488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(0°. After a flight of
20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :

70819154627, 360043 m

70819154628, 240073 m

: 3
70819154629, UV S m

.
70819154630, 120043 m



Question Number : 75 Question Id : 70819116488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o T U fag A H UF S 1 SHAG B 60° B 1 432 km/hr Tt TIfa H 20 Fhe 1 S2H F 916
FoFA IV 30° B S E | Afg Se U fion 39T W IS W@ 8, A SuH St ©
Options :

70819154627, ~000V3 m

2400+/3
70819154628, Vam

70819154629, 1800V m

120043 m

70819154630.

Question Number : 76 Question Id : 70819116489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; + j + ,:':] =1 and ;(; - 2_}] — — 2, and the point (1, 0, 2) is :
Options :
- \3i+7+3k)=7
70819154631.

r-(i+7543k)=7
70819154632.

i gl

W~

70819154633.



r-(i+75+3k)=

W~

70819154634.

Question Number : 76 Question Id : 70819116489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T ;.(? i j £E)=1 ﬁEﬂ}'.('E _2}.] — _ o & Wfaeed 1 a9 fag (1, 0, 2) | E 9
o] IHAE T HWE9 HHE ©
Options :
r\3i+7j+3k)=7
7081915463 1.
70819154632, i 17 j+3k)=7
rli=7 jasgl-*
70819154633 3
rli+7j+3k)=2
70819154634 3

Question Number : 77 Question Id : 70819116490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the statements p and g, consider the following compound statements :
(a (qA(P—9)—>-p
(b) (pvar~p)—q

Then which of the following statements is correct ?



Options :

70819154635 (a) is a tautology but not (b).

70819154636, (D) is @ tautology but not (a).

70819154637, (@) and (b) both are tautologies.

70819154633, (@ and (b) both are not tautologies.

Question Number : 77 Question Id : 70819116490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FoAI p a1 q F for, F1 fag el W faam =it
(@) (~qa(p—9q) —=~p

(b) (pvg A~p)—q

@ 7wl | F FE- e WA © 7

Options :

70819154635, (@) T TR &, TG (b) T 2

S0819154636, (D) T TR 8, T (a) T &
70819154637, (@) 1 (b) SHT Tl [

081915463, (3) TN (b) Sl grrefermal &

Question Number : 78 Question Id : 70819116491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



If a curve y=f(x) passes through the point (1, 2) and satisfies 1% by = bx*, then for

4 62
what value of b, Jf{l']‘i"f = ? ?
1
Options :
70819154639. 10
31
5
70819154640.

70819154641, °

70819154642.

Question Number : 78 Question Id : 70819116491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

afE wah T y=f(x) fa7g (1, 2) | T ST E Ad 1% by = bx" FUTE F@ E, Wb fFw AA

o Jr0e=2 5
$fm1 = o

Options :

70819154639, 1Y

3

70819154640, 2



70819154641, 2

62
70819154642, 2

Question Number : 79 Question Id : 70819116492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two

elements in their intersecton, is :

Options :

65
70819154643, 2
65
o
70819154644, <
135
=
70819154645, <
35
70819154646, 2

Question Number : 79 Question Id : 70819116492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

HE=A {1, 2,3, 4,5) 9 31 Aigfea® 94 T SUEg=Al & 4% H 3 91 51999 21 H AIighdT €

Options :



70819154643.

70819154644. =

70819154645. =

70819154646.

Question Number : 80 Question Id : 70819116493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the region : R = {(x, y) : 522 = y = 222+ 9} is :
Options :

3 squ its
70819154647. f~/3 square units

70819154648. ":?ﬁ square units

70819154649. 1143 square units

12 square units
J0819154650. 12¥3 5

Question Number : 80 Question Id : 70819116493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



@TﬂR={[x,y_]:ﬁxziyilxz-l-ﬁi}ﬁwg':

Options :
7 63 EUBTOE

7081915464
70819154645, N3 T TG
70819154649. 1143 1 9
10819154650, TGRSR

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mathematics Section B
708191639
6
Online
Mandatory
10
5
20
Yes
1
708191919
Yes

Question Number : 81 Question Id : 70819116494 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum

possible value of k is _



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 81 Question Id : 70819116494 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

IfE 9 [ YU 1, 1, 1, ..., 1, k 1 W50 10 ¥ 9 €, 9k 1 AfuFed gafaa wm_e |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819116495 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (—5, 0). If the locus of the point P is a circle of radius r, then 4rl is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 82 Question Id : 70819116495 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TUE fag P TR EfF s fag 5, 0) =0, g (-5, 0) A W AA T 8| A fag P
w1 fagu uF 99 & ot e o w2y |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116496 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)?>+ (y—3)>=25 at the point (5, 7) is A, then 24A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819116496 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ffg BIYs, S 9o x-3F9 TG F9 (x—2)2 + (y - 3)2=25 & fag (5, 7) W @i= MU e a9
T3] T G ST B, S A R, W24A SR E |

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116497 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(-1 :‘ﬁ]m (1+ i3]
- A 2

24

(1- i) (1+ i)

Let i=+—1.

n+5 , Dt
of |k|. Then Z’(; +5)° E{j t5) isequalto .
F F

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819116497 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= k,and n=[|k|] be the greatest integral part



(-1+ iW3) (14 iB)

= Vo1 ¥R - oo J_ — | ¥ @ n=[|k|], |k| F HEwH U HM
I sl
: .n*5 n+o
LA D> (5 - D (5wt |
j=0 =0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 85 Question Id : 70819116498 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students 54, S,, ...., Sy are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819116498 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



BN, S, Sy, ..., Sy I AA T A, B AN C H 30 ¥R fasifom &0 € f ves o § %9 4 F9
TH BE B a0 9 C ° Afuw § afuyw 3 9@ d| @ 39 UHR 99E TH F FA G9EE 2
I
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116499 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ifn=zr=0

0, otherwise

n - "Cr,
For integers n and r, let : J e

The maximum value of k for which the sum

E(10)( 15) K2 12)( 13
Z{} = e i Z i Ngq1-;) exists,isequalto .
= =)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819116499 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



n
rJ

ql k &1 98 Afgsrad 79[, faa+ fag, armea

g(ﬂ[ﬁl5;]+§£ﬂ[x |1f Jﬁmyﬁﬂﬁ'%ﬁ S {

Response Type : Numeric

qmﬁfnﬁmr%ﬁm,w(

"C,, ARnzrz0
0, 3T

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819116500 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 m-_,r"(iJ = bx 4 E, x # 0, then the value of the expression
- :

X
f(x) ,_rH
X/ is

7 o,
x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001



Question Number : 87 Question Id : 70819116500 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1
: | 1 B . o ) --’r[__J
AT a+a=1, b+p=2 9T af (x) 4 ﬁf[—J=bﬁ:l oyl i X/ TE
X X 1
X +—
x
? |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5to0 5.001
Question Number : 88 Question Id : 70819116501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Let A be an integer. If the shortest distance between the lines x —A=2y—1=—2z and
o
, N/ g .
x=y+2h=z—Ais — _then the value of |[A\|is .
22

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 88 Question Id : 70819116501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A A U YU ¢ Afg el x —A=2y—1= —2z @M x=y+2\=z—\ F o= & FAq9 gh

V7

zﬁ%,ﬁhw%_ ssinsie ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819116502 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6
The sum of first four terms of a geometric progression (G.FP.) is 12 and the sum of their

respective reciprocals is E [f the product of first three terms of the G.P. is 1, and the third

term is o, then 2« is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819116502 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



= N T = b = 65 = by = ﬁS ) - = = N s
WWWEWWW&?WF%HWWWWWE%I afe 5 Jeol 911 Ta&1

TUAEA 1 8 IR T Wa dl, @ 2aqWE_E |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819116503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

]
.4-»|MJ

The number of the real roots of the equation (x +1)%+ |x—5|=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819116503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
o A

THIF (x+1)2 +[x—5|= - % aedfod g w WM |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001



